Part II after questions 7,8

1. No change from output for question 4,5,6 because  toInches is a private method which is only used by changeBy which hasn't been implemented yet.

ÏÏÏ
ÏÏ«Ï ----jGRASP exec: java Driver
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
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